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UNIVERSITY OF TEXAS AT AUSTIN

Problem Set #3
Multiple binomial periods (European).

Problem 3.1. The current price of a continuous-dividend-paying stock is $100 per share. Its volatility is
given to be 0.2 and its dividend yield is 0.03.

The continuously compounded, risk-free interest rate equals 0.06.

Consider a $95-strike European put option on the above stock with nine months to expiration. Using a

o= three-period forward binomial tree, find the price of this put option. T=3/

(a) $2.97

(b) $3.06 =Y ﬁ =%\‘
(c) $3.59

(d) $3.70

(e) None of the above.
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Problem 3.2. Let the contintously compounded interest rate b Assume that the initial price of
a non-dividend-paying stock is $100 per share. :
Consider a o—period binomial model for the evolution of the stock price over the next year. Let u = 1.04
and d'=0.96. ' (v\-.—.s Tai ey
(1) What is the price of a one-year, 100-strike cash call on the above asset?
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